MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	Belair Bayou Subdivision Lift Station and Force Main Replacement	DATE POSTED	MC 16/15 / SE DS 16/15/VSE CC 16/15/SE
PURCHASING REPRESENTATIVE	Donna M. Stevens ext. 3045	DATE CONTRACT SHALL BE AWARDED	Seven days from date posted
DEPARTMENT	Public Works Department	CONSEQUENCES IF DEFERRED	Delay in project
SOLICITATION	IFB #15-0090-DS	AUTHORIZED BY DATE	Dennis Wallace January, 2015

NOTICE OF INTENT TO AWARD

Notice of Intent to Award, Invitation for Bid # 15-0090-DS, Belair Bayou Subdivision Lift Station and Force Main Replacement, to the lowest, responsive and responsible bidder, Harris-McBurney Company, 2120 North US Highway 301, Tampa Florida 33619 for a total base bid of

\$246,093.10 for a completion time of 220 calendar days.

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Law

BACKGROUND/DISCUSSION

The work included in this contract is defined as the replacement of the entire lift station wet well, valve vault, and force main. The location of the lift station and force main replacement is 6324 5th Avenue NW, Bradenton, Florida. The electrical panel and antenna shall remain. All work shall meet current Manatee County Standards and shall consist of, but limited to:

- 1. Complete removal of an existing sewage lift station and the abandonment of an existing force main by grout filling.
- 2. A new concrete grinder lift station wet well and valve vault shall be furnished, installed, and placed into service. The wet well and valve shall be incidental H-20 Traffic Loading.
- 3. Furnish and install a new 3" HDPE (DR-11) force main by horizontal directional drill and direct bury from the lift station to a manhole at the intersection of 6th Ave NW & 62nd St NW.
- 4. Rehabilitate and line the receiving manhole and the next two downstream manholes.

The Contractor shall furnish all shop drawings, working drawings, labor, materials, equipment, tools, services and incidentals necessary to complete all work required by these Specifications and as shown on the Contract Drawings.

Appropriate bid procedures were followed. Notice of Bid availability advertised on Demand Star, Mymanatee.org and the Manatee Chamber of Commerce.

Three (3) bids were received.

Manatee County Firm
Westra Construction Corp.

<u>Lee County Firm</u> Andrew Sitework LLC

Hillsbourgh County Firm Harris McBurney Company

Bid Offering Bid "A 130 days

No Bid

Bid Offering Bid "A" 130 days \$247,423.00

Bid Offering Bid "A" 130 days \$246,093.10 Bid Offering Bid "B" 220 days

\$575, 606.30

Bid Offering Bid "B" 220 days \$247,423.00

Bid Offering Bid "B" 220 days \$246,093.10

Background/discussion continued on page 2.

ATTACHMENTS (List in order of attached)	Bid Tabulation Recommendation to Award	FUNDING SOURCE (Acct Number & Name)	Utility Rates X Funds Verified
COST	\$246,093.10	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)	

INT	TENT TO AWARD (continued)	Page 2
•	On December 29, 2014 received from Public Works Department the recommendate Company, the lowest, responsive and responsible bidder for a total base bid of \$246 completion.	ion to award to Harris Mc-Burney 6,093.10 with a 220 calendar day
•	This funding source for this Agreement will be (Utility Rates) (4020019707/534000-5 534000/5001400-0004)	001277-004, 4020019707-

MEMORANDUM

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

Jeff Streitmatter III, P.E., Project Management Division Manage

Date:

December 18, 2014

Subject:

Belair Bayou Subdivision Lift Station and Force main Replacement

Harris McBurney Company

Recommendation for Award - IFB#15-0090-DS

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract Bid "B", with a construction time of 220 calendar days be awarded to the lowest responsive, responsible bidder, Harris McBurney Company in the amount of \$246,093.10 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Utility Rates.

Please contact Sherri Robinson, Project Manager if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/sr

CC:

Mike Gore, Director, Utilities

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Sherri Robinson, Project Manager Nick Wagner, Lift Stations Superintendent

Bill Elmore, Utilities Superintendent

Prony Bonnaire Fils, Engineering Specialist II, w/attachments

Project File: 402-0019707 - 9.2 402-0019708 - 9.2

> Public Works Department Project Management Division 1022 26th Avenue East, Bradenton, FL 34208-3926 Phone number: (941) 708-7450

IFB #15-0090-DS BELAIR BAYOU LIFT STATION AND FORCE MAIN REPLACEMENT BID "B"

							2		3	
BID "B" 220 CALENDAR DAYS					Harris McBurney Company 2120 N. U.S. Highway 301 Tampa, FL 33619 (Hillsborough County)		Andrew Sitework LLC 4896 Elevation Way Fort Myers, FL 33905 (Lee County)		Westra Construction 1263 12th Avenue East Palmetto, FL 34221 (Manatee County)	
No.	Line Item	U/M	Qty	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	
1	Curb Replacement	LF	59	\$29.00	\$1,711.00	\$37.00	\$2,183.00	\$37.75	\$2,227.2	
2	Pavement Repair & Road Restoration (Base Repair & Resurface)	SY	77	\$98.00	\$7.546.00	\$76.00	\$5,852.00	\$95.60	\$7,361,2	
3	Pavement Repair & Road Restoration (Mill & Resurface)	SY	418	\$45.00	\$18,810.00	\$35.00	\$14,630.00	\$44.25	\$18.496.5	
4	Sidewalk Replacement, Concrete (4" min. thick) (Addendum #1)	SY	62	\$55.00	\$3,410.00	\$55.00	\$3,410.00	\$64.00	\$3,968.0	
5	Driveway Restoration, Concrete (6" min. thick)	SY	9	\$65.00	\$585.00	\$162.00	\$1,458.00	\$75,50	\$679.5	
6	Driveway Restoration, Shell/Gravel (6" min. thick)	SY	18	\$32.00	\$576.00	\$45.00	\$810.00	\$19.00	\$342.0	
7	Sodding	SY	275	\$4.00	\$1,100.00	\$13.00	\$3,575.00	\$5.35	\$1,471.2	
8	Grout Fill Abandoned Force Main, 4"	CY	4	\$641.00	\$2,564.00	\$615.00	\$2,460.00	\$425.00	\$1,700.0	
9	Rehabilitate Ex. Manhole (3 MH, 4'dla., Includes spray-on liner)	VF	17	\$471.00	\$8,007.00	\$626.00	\$10,642.00	\$290.00	\$4,930.0	
10	3" HDPE (DR-11) Pipe, directional drill	LF	777	\$18.25	\$14,180.25	\$22.00	\$17,094.00	\$45.00	\$34,965.0	
	3" HDPE (DR-11) Pipe, direct bury	LF	191	\$18.25	\$3,485,75	\$52.00	\$9.932.00	\$25.25	\$4.822.7	
12	8" PVC (DR-26) Pipe	LF	10	\$49.60	\$496.00	\$252.00	\$2,520.00	\$51.00	\$510.0	
13	Core Bore Manhole (manhole connection)	EA	1	\$11,257.00	\$11,257.00	\$2,815.00	\$2,815.00	\$4,600,00	\$4,600.0	
14		LB	300	\$11,257.00	\$5,400.00	\$3.00	\$900.00	\$4,600.00	\$1,395.0	
-	3" DI Fittings	EA	300	\$352.00	\$3,168.00	\$383.00	\$3,447,00	\$4.00	\$3,780.0	
15	Pipe Adapter									
16	3" Gate Valve	EA	1	\$930.00	\$930.00	\$1,242.00	\$1,242.00	\$1,180.00	\$1,180.0	
17	By-Pass Pumping <500 gpm	LS	1	\$9,246.00	\$9,246.00	\$12,889.00	\$12,889.00	\$59,000.00	\$59,000.0	
18	Complete 4" Dia. Concrete Duplex Grinder Lift Station	LS	1	\$101,699.00	\$101,699.00	\$103,290.00	\$103,290.00	\$166,000.00	\$166,000.0	
40	SUBTOTAL CONSTRUCTION COST	LS	1		\$194,171.00		\$199,149.00 \$17,811.00		\$317,428.49 \$51,000.0	
19	Mobilization			Interest in the	\$10,449.00			THE PARTY OF THE P		
20	Miscellaneous Work and Cleanup	LS	1		\$16,111.00		\$6,200.00		\$152,000.00	
21	Record Drawings TOTAL BASE BID - Based on Completion Time of 220	LS	1	Explain B	9 \$2,990.00	第二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十	\$1,770.00		\$2,850.0	
	Calendar Days				\$223,721.00		\$224,930.00		\$523,278.4	
22	Contract Contingency Work (Used only with County Approval)	%	10	en e	\$22,372.10		\$22,493.00		\$52,327.8	
	TOTAL OFFER FOR BID with Contract Contingency - Based on Completion Time of 220 Calendar Days (Addendum #1)				\$246,093.10		\$247,423.00		\$575,606.3	
Acknowledged Addendum #1 Contractor's Questionnaire & License Public Contracting & Environmental Crimes Certification Florida Trench Safety Act Bid Bond				Yes Yes - CGC1518512		Yes Yes - CUC1224664		Yes Yes - CGC062888		
					Yes)	'es	1	/es	
				Yes		Yes		Yes		

BID TABULATION

FOR

IFB #15-0090-DS

BELAIR BAYOU LIFT STATION AND FORCE MAIN REPLACEMENT

BID "B"

BASED ON A COMPLETION TIME OF 220 CALENDAR DAYS

PREPARED BY: (Project Management)	Sherri Robinson	12/12/14 Date
REVIEWED BY: (Project Engineer)	Shea Shoun, P.E., Sr. Project Engineer	12/15/14 Date
REVIEWED BY: (Project Manager)	N/A Sherri Robinson, Project Manager	Date
APPROVED BY: (Purchasing)	Donna Stevens, Contract Specialist	1/6/15 Date

IFB #15-0090-DS BELAIR BAYOU LIFT STATION AND FORCE MAIN REPLACEMENT BID "A"

					(Increase a land)	2			3
	BID "A" 130 CALENDAR DAYS	Harris McBurney Company 2120 N. U.S. Highway 301 Tampa, FL 33619 (Hillsborough County)		Andraw Sitework LLC 4696 Elevation Way Fort Myers, FL 33905 (Lee County)		Westra Construction 1263 12th Avenue East Palmetto, FL 34221 (Manatee County)			
ten No.	M - [HKSH] [HKSH] [HKSH] [HKHSH] [HKHSH] [HKHSH] [HKHSH] [HKHSH] [HKHSH] [HKSH] [HKHSH] [HKHSH] [HKHSH] [HKHSH	U/M	Qty	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Curb Replacement	LF	59	\$29.00	\$1,711.00	\$37.00	\$2,183.00		Bid
2	Pavement Repair & Road Restoration (Base Repair & Resurface)	SY	77	\$98.00	\$7,546.00	\$76.00	\$5,852.00	No Bid	
3	Pavement Repair & Road Restoration (MIII & Resurface)	SY	418	\$45.00	\$18,810.00	\$35.00	\$14,630.00	No	Bid
4	Sidewalk Replacement, Concrete (4" min. thick) (Addendum #1)	SY	62	\$55.00	\$3,410.00	\$55.00	\$3,410.00	No	Bid
5	Driveway Restoration, Concrete (6" min. thick)	SY	9	\$65.00	\$585.00	\$162.00	\$1,458.00	No	Bid
6	Driveway Restoration, Shell/Gravel (6" min. thick)	SY	18	\$32.00	\$576.00	\$45.00	\$810.00	No	Bid
7	Sodding	SY	275	\$4.00	\$1,100.00	\$13.00	\$3,575.00	No	Bid
8	Grout Fill Abandoned Force Main, 4"	CY	4	\$641.00	\$2,564.00	\$615.00	\$2,460.00	No	Bid
9	Rehabilitate Ex. Manhole (3 MH, 4'dia., includes spray-on liner)	VF	17	\$471.00	\$8,007.00	\$626.00	\$10,642.00	No	Bid
10	3" HDPE (DR-11) Pipe, directional drill	LF	777	\$18.25	\$14,180.25	\$22.00	\$17,094.00	No	Bid
11	3" HDPE (DR-11) Pipe, direct bury	LF	191	\$18.25	\$3,485.75	\$52.00	\$9,932.00	No Bid	
12	8" PVC (DR-26) Pipe	LF	10	\$49.60	\$496.00	\$252.00	\$2,520.00	No	Bid
13	Core Bore Manhole (manhole connection)	EA	1	\$11,257.00	\$11,257.00	\$2,815.00	\$2,815.00	No	Bid
14	3" DI Fittings	LB	300	\$18.00	\$5,400.00	\$3.00	\$900.00	No	Bid
15	Pipe Adapter	EA	9	\$352.00	\$3,168.00	\$383.00	\$3,447.00	No	Bid
16	3" Gate Valve	EA	1	\$930.00	\$930.00	\$1,242.00	\$1,242.00	No	Bid
17	By-Pass Pumping <500 gpm	LS	1	\$9,246.00	\$9,246.00	\$12,889.00	\$12,889.00	No	Bid
18	Complete 4" Dia. Concrete Duplex Grinder Lift Station	LS	1	\$101,699.00	\$101,699.00	\$103,290.00	\$103,290.00	No	Bid
	SUBTOTAL CONSTRUCTION COST				\$194,171.00		\$199,149.00	No	Bid
19	Mobilization	LS	1		\$10,449.00		\$17,811.00	No	Bid
20	Miscellaneous Work and Cleanup	LS	1		\$16,111.00		\$6,200.00	No	Bid
21	Record Drawings	LS	1	A THE REST OF STREET	\$2,990.00		\$1,770.00	No	Bid
	TOTAL BASE BID - Based on Completion Time of 130 Calendar Days				\$223,721.00		\$224,930.00	No	Bid
22	Contract Contingency Work (Used only with County Approval)	%	10		\$22,372.10		\$22,493.00	No	Bid
	TOTAL OFFER FOR BID with Contract Contingency - Based on Completion Time of 130 Calendar Days (Addendum #1)				\$246,093.10		\$247,423.00	No	Bid
Acknowledged Addendum #1 Contractor's Questionnaire & License			Yes Yes - CGC1518512		Yes Yes - CUC1224664		Yes Yes - CGC062888		
									Public Contracting & Environmental Crimes Certification
Florida Trench Safety Act			Yes		Yes		Yes		
3id	id Bond			Yes		Yes		Yes	

BID TABULATION

FOR

IFB #15-0090-DS

BELAIR BAYOU LIFT STATION AND FORCE MAIN REPLACEMENT

BID "A"

BASED ON A COMPLETION TIME OF 130 CALENDAR DAYS

PREPARED BY: (Project Management)	Shewi Robinson	13/12/14 Date
REVIEWED BY: (Project Engineer)	Shea Shoun, P.E., Sr. Project Engineer	12/17/14 Date
REVIEWED BY: (Project Manager)	∩/A Sherri Robinson, Project Manager	Date
APPROVED BY: (Purchasing)	Donna Stevens, Contract Specialist	16/15 Date